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Test 2A pres = B2 A Name:
Dusty Wilson
Math 151 We are usually convinced more easily by reasons we have

Sfound ourselves than by those which have occurred to others.
No work = no credit Biaise Pascal {1623 - 1662)
French mathematician
Ne Sineful Calculators
d .

Warm-ups (1 pt each): —;i——sm (x)=

an eguation. o ] 3 e AR

P find g'(x}. Simplification is optional.
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5.)(4pts)If f(x)=2tan™ (e" ”) find ;f— Simplification is optional.
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Simplification is optional.
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J3-4z d
hﬁ? , find _37__ Give your answer as an equation. Simplification is

(5-,. _1) dz

1)(4pts)if g =

optional.
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2.) {4 pts) Find the equation of the normal line to x +y =% -2xy 4 Hx m»zr%:
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3.} (4 pts) Find and evaluate the following given the tabie below. Circle your answers.

a.) -ff— _g(x)

= 7(%) when x =2 f 1:%2 %
4 311
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4.} {4 pts) Differentiate y=3 (——)— with respect to x. Simplification is optional.
SeC{+y .
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Warm-ups {1 pt each): isizfl“(x): iarccos(x): e w‘C-j-—’can(x)z 4. X

dx T dx i dx

1.} (1 pt) According to Pascal (see above), what kind of logic do we find most co‘mpeiling?
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2.) (6 pts) Differentiate /2 (x)=7x° +5¢x -kij—i-‘)log8 (x)+7"+6tan™ (x). Express your answer as
2

an eguation.
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3.} {4 pts) Find —d—~5x csc{x). Simplification is optional.
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4.) (4 pts)if g(x)= find g'(x). Simplification is optional.

(ax? = Fx + &Y
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5)(4pts)If f(x)=3tan™ (e" *4) find Hdi . Simplification is optional.

X
i
X
fi—%—': o S - _L-Q .@XS‘(
oA X 1.4-(:2_7( *'L')
5 X%
I8 X a
- ><""4. 2.
i+ (@ 7)

6.) (4 pts) The position in meters of a particle after ¢ seconds is given by s = '~

. Find the
acceleration of the particleat 7 = 0.
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7.} (4 pts) Differentiate y :(sin(x))x . Express y' in terms of x, Simplification is optional.
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1.) (4 pts) Differentiate y = 4( J with respect to x. Simplification is optional

tan (5x)
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3.} {4 pts} Find the equation of the normal line to x* + v* =9+ 2xy —4x at the point (2,1},
Xy
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4.} (4 pts) Find and evaluate the following given the table below. Circle your answers.
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